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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742714709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742757301. 1
22742757302. 2
22742757303. 3

22742757304. 4



Question Number : 2 Question Id : 22742714710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742757305. 1

22742757306. 2

22742757307. 3

22742757308. 4

Question Number : 3 Question Id : 22742714711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
227427573009. 1
22742757310. 2
22742757311.3

22742757312. 4



Question Number : 4 Question Id : 22742714712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742757313. 1
22742757314. 2
22742757315.3

22742757316. 4

Question Number : 5 Question Id : 22742714713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742757317. 1
22742757318. 2
22742757319. 3

22742757320. 4



Question Id : 22742714708 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742714709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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442000

Options:



22742757301.1
22742757302. 2
22742757303. 3

22742757304. 4

Question Number : 2 Question Id : 22742714710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

JUH .U, WH a1 YR Fee! & S8 @1 fGe® T aTci 40 78 T S 31 & Feo! o S § HJurd el § 2
1.2

2.8:3

3.38

4 43

Options :

22742757305. 1

22742757306. 2

22742757307. 3

22742757308. 4

Question Number : 3 Question Id : 22742714711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757309. 1



22742757310. 2
22742757311. 3

22742757312. 4

Question Number : 4 Question Id : 22742714712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757313. 1
22742757314. 2

22742757315. 3

22742757316. 4

Question Number : 5 Question Id : 22742714713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757317.1



22742757318. 2
22742757319. 3

22742757320. 4

Sub-Section Number : 2
Sub-Section Id : 227427578
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742714714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742757321. 1
22742757322. 2
22742757323.3

22742757324. 4

Question Number : 6 Question Id : 22742714714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757321. 1
22742757322, 2
22742757323. 3

22742757324. 4

Question Number : 7 Question Id : 22742714715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742757325. 1
22742757326. 2
22742757327.3

22742757328. 4

Question Number : 7 Question Id : 22742714715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757325. 1
22742757326. 2
22742757327.3
22742757328. 4

Question Number : 8 Question Id : 22742714716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742757329. 1
22742757330. 2

22742757331. 3



22742757332. 4

Question Number : 8 Question Id : 22742714716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T mFEfrms:

B - |- 3rae (o) H g & Tad faendl @ ofm $d o el U Uy H ARl @ o @1 W 5

B - 11 - Fg 3T TR 1 9 5 4G (P d) URY1 1 o 9o R

A

e fdmed & € W8 SR

Juad Bl & el | g

1. B | AR 11 &I &1 &

2. BY | R 1 EHl SRl 2l

3. Y| G &, foeg B 11 T |
4 DY | A9 g, T U 11 T8 §
Options :

22742757329. 1
22742757330. 2
22742757331. 3

22742757332. 4

Question Number : 9 Question Id : 22742714717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

227427573331
22742757334. 2
22742757335.3
22742757336. 4

Question Number : 9 Question Id : 22742714717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757333. 1

22742757334. 2



22742757335. 3

22742757336. 4

Question Number : 10 Question Id : 22742714718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742757337. 1
22742757338. 2
22742757339.3

22742757340. 4

Question Number : 10 Question Id : 22742714718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757337. 1
22742757338. 2
22742757339. 3
22742757340. 4



Question Number : 11 Question Id : 22742714719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742757341.1
22742757342. 2
22742757343. 3

22742757344. 4

Question Number : 11 Question Id : 22742714719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757341. 1
22742757342. 2
22742757343. 3

22742757344. 4



Question Number : 12 Question Id : 22742714720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742757345. 1
22742757346. 2
22742757347. 3

22742757348. 4

Question Number : 12 Question Id : 22742714720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757345. 1
22742757346. 2
22742757347. 3

22742757348. 4

Question Number : 13 Question Id : 22742714721 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742757349. 1
22742757350. 2
22742757351. 3

22742757352. 4

Question Number : 13 Question Id : 22742714721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i Tedey U (1) AR 3T Wafdd p 7 fGu U B | Faferied | € &1 9y oY e Tegdy Tean

Ar=077,p=025
B.r=-061,p=001
C.r=041,p=059
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Options :
22742757349. 1
22742757350. 2
22742757351, 3

22742757352. 4

Question Number : 14 Question Id : 22742714722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742757353. 1
22742757354, 2
22742757355.3

22742757356. 4



Question Number : 14 Question Id : 22742714722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757353. 1
22742757354. 2
22742757355. 3

22742757356. 4

Question Number : 15 Question Id : 22742714723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742757357. 1
22742757358. 2
22742757359. 3

22742757360. 4

Question Number : 15 Question Id : 22742714723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757357. 1
22742757358. 2
227427573509. 3

22742757360. 4

Question Number : 16 Question Id : 22742714724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742757361. 1
22742757362. 2
22742757363.3

22742757364. 4



Question Number : 16 Question Id : 22742714724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757361. 1
22742757362. 2
22742757363.3

22742757364. 4

Question Number : 17 Question Id : 22742714725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742757365. 1
22742757366. 2
22742757367. 3

22742757368. 4

Question Number : 17 Question Id : 22742714725 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

GUNl & EPHI0 U 3M1E PR B gRIFS TR f&H B TgEdl &di & 2

1. dgfdd® gH

2. Uifddharc] S=su
3. AHTH dd-l

4. FHIS® T9y
Options :
22742757365. 1
22742757366. 2
22742757367. 3

22742757368. 4

Question Number : 18 Question Id : 22742714726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742757369. 1



22742757370. 2
22742757371. 3
22742757372. 4

Question Number : 18 Question Id : 22742714726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757369. 1
22742757370. 2
22742757371.3

22742757372. 4

Question Number : 19 Question Id : 22742714727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427573731
22742757374. 2
22742757375.3
22742757376. 4

Question Number : 19 Question Id : 22742714727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742757373. 1

22742757374. 2



22742757375. 3
22742757376. 4

Question Number : 20 Question Id : 22742714728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear [l. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742757377. 1
22742757378. 2
22742757379. 3
22742757380. 4

Question Number : 20 Question Id : 22742714728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

227427573771
22742757378. 2
22742757379. 3

22742757380. 4

Question Number : 21 Question Id : 22742714729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742757381. 1
22742757382. 2
22742757383.3

22742757384. 4



Question Number : 21 Question Id : 22742714729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742757381. 1
22742757382. 2
22742757383. 3

22742757384. 4

Question Number : 22 Question Id : 22742714730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742757385. 1
22742757386. 2
22742757387.3
22742757388. 4

Question Number : 22 Question Id : 22742714730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742757385. 1
22742757386. 2
22742757387.3
22742757388. 4

Question Number : 23 Question Id : 22742714731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742757389. 1
22742757390. 2
22742757391. 3

22742757392. 4

Question Number : 23 Question Id : 22742714731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742757389. 1
22742757390. 2
22742757391.3
22742757392. 4

Question Number : 24 Question Id : 22742714732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742757393. 1
22742757394. 2
22742757395. 3

22742757396. 4

Question Number : 24 Question Id : 22742714732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742757393. 1
22742757394, 2
22742757395. 3

22742757396. 4

Question Number : 25 Question Id : 22742714733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742757397. 1
22742757398. 2
22742757399. 3

22742757400. 4

Question Number : 25 Question Id : 22742714733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742757397. 1
22742757398. 2
22742757399. 3

22742757400. 4

Question Number : 26 Question Id : 22742714734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742757401. 1
22742757402, 2
22742757403. 3

22742757404. 4

Question Number : 26 Question Id : 22742714734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742757401. 1

22742757402. 2



22742757403. 3

22742757404. 4

Question Number : 27 Question Id : 22742714735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742757405. 1

22742757406. 2

22742757407. 3

22742757408. 4

Question Number : 27 Question Id : 22742714735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742757405. 1
22742757406. 2
22742757407. 3

22742757408. 4



Question Number : 28 Question Id : 22742714736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427574009. 1
22742757410. 2
22742757411.3
22742757412. 4

Question Number : 28 Question Id : 22742714736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l
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SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

22742757409. 1

22742757410. 2
22742757411. 3

22742757412. 4

Question Number : 29 Question Id : 22742714737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742757413 1
22742757414. 2
22742757415.3

22742757416. 4

Question Number : 29 Question Id : 22742714737 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

227427574131
22742757414. 2
22742757415. 3

22742757416. 4

Question Number : 30 Question Id : 22742714738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742757417. 1
22742757418. 2
22742757419. 3

22742757420. 4



Question Number : 30 Question Id : 22742714738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742757417. 1

22742757418. 2

22742757419, 3

22742757420. 4

Question Number : 31 Question Id : 22742714739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742757421. 1

22742757422. 2



22742757423. 3

22742757424. 4

Question Number : 31 Question Id : 22742714739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742757421. 1
22742757422. 2
22742757423.3

22742757424. 4

Question Number : 32 Question Id : 22742714740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742757425. 1
22742757426. 2
22742757427. 3

22742757428. 4

Question Number : 32 Question Id : 22742714740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742757425. 1
22742757426, 2
227427574273

22742757428. 4

Question Number : 33 Question Id : 22742714741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742757429. 1
22742757430. 2
22742757431.3

22742757432. 4

Question Number : 33 Question Id : 22742714741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742757429. 1

22742757430. 2



22742757431. 3
22742757432. 4

Question Number : 34 Question Id : 22742714742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742757433. 1
22742757434, 2
22742757435. 3

22742757436. 4

Question Number : 34 Question Id : 22742714742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
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id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

227427574331
22742757434. 2
22742757435. 3
22742757436. 4

Question Number : 35 Question Id : 22742714743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742757437.1
22742757438. 2

22742757439. 3



22742757440. 4

Question Number : 35 Question Id : 22742714743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742757437. 1
22742757438. 2
22742757439. 3

22742757440. 4

Question Number : 36 Question Id : 22742714744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742757441. 1
22742757442, 2
22742757443, 3

22742757444. 4

Question Number : 36 Question Id : 22742714744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742757441. 1
22742757442. 2
22742757443. 3

22742757444. 4

Question Number : 37 Question Id : 22742714745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742757445. 1
22742757446. 2
22742757447. 3

22742757448. 4

Question Number : 37 Question Id : 22742714745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt Pl il Mo WG & IR 39 Pis Hecaqul widd a1 Te) a1 Ul 8, 1 59 fuf & o g oI 82
2. 99 gl

4. Tyl

Options :

22742757445. 1

22742757446. 2

22742757447. 3

22742757448. 4

Question Number : 38 Question Id : 22742714746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742757449. 1
22742757450. 2
22742757451. 3
22742757452. 4

Question Number : 38 Question Id : 22742714746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742757449. 1
22742757450. 2
22742757451.3

22742757452. 4

Question Number : 39 Question Id : 22742714747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742757453. 1
22742757454. 2
22742757455. 3

22742757456. 4

Question Number : 39 Question Id : 22742714747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757453 1

22742757454, 2

22742757455, 3

22742757456. 4

Question Number : 40 Question Id : 22742714748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?

- -
RN i
a— a— . a—
e T o R R %

L

w N

0 th N
[
oy

Options :

22742757457. 1
22742757458. 2
22742757459. 3

22742757460. 4

Question Number : 40 Question Id : 22742714748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757457. 1
22742757458. 2
22742757459. 3
22742757460. 4

Question Number : 41 Question Id : 22742714749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742757461. 1
22742757462. 2
22742757463. 3

22742757464. 4

Question Number : 41 Question Id : 22742714749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757461. 1
22742757462. 2
22742757463.3

22742757464. 4

Question Number : 42 Question Id : 22742714750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India

[

o

Options :

22742757465. 1
22742757466. 2
22742757467. 3

22742757468. 4

Question Number : 42 Question Id : 22742714750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757465. 1
22742757466. 2
22742757467.3

22742757468. 4

Question Number : 43 Question Id : 22742714751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742757469. 1
22742757470. 2
22742757471.3
22742757472. 4

Question Number : 43 Question Id : 22742714751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757469. 1
22742757470. 2
22742757471. 3

22742757472. 4

Question Number : 44 Question Id : 22742714752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

227427574731
22742757474. 2
22742757475. 3
22742757476. 4

Question Number : 44 Question Id : 22742714752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757473. 1
22742757474, 2
22742757475. 3

22742757476. 4

Question Number : 45 Question Id : 22742714753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

227427574771
22742757478. 2
22742757479.3

22742757480. 4

Question Number : 45 Question Id : 22742714753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742757477. 1



22742757478. 2
22742757479. 3

22742757480. 4

Sub-Section Number : 3
Sub-Section Id : 227427579
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742714754 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742714755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742757481. 1
22742757482. 2
22742757483.3
22742757484. 4

Question Number : 47 Question Id : 22742714756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742757485. 1
22742757486. 2
22742757487.3

22742757488. 4



Question Number : 48 Question Id : 22742714757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L

F =N

Options :

22742757489. 1
22742757490. 2
22742757491.3
22742757492. 4

Question Number : 49 Question Id : 22742714758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742757493. 1



22742757494. 2
22742757495. 3

22742757496. 4

Question Number : 50 Question Id : 22742714759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true

[ L

e

Options :

22742757497. 1
22742757498. 2
22742757499. 3

22742757500. 4

Question Id : 22742714754 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742714755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757481. 1
22742757482, 2
22742757483. 3

22742757484. 4

Question Number : 47 Question Id : 22742714756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757485. 1
22742757486. 2
22742757487.3

22742757488. 4

Question Number : 48 Question Id : 22742714757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757489. 1
22742757490. 2
22742757491.3

22742757492. 4



Question Number : 49 Question Id : 22742714758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757493. 1
22742757494, 2
22742757495. 3

22742757496. 4

Question Number : 50 Question Id : 22742714759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757497. 1
22742757498. 2
22742757499. 3

22742757500. 4

Yoga
Section Id : 227427196
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 227427580
Question Shuffling Allowed : Yes

Is Section Default? :

null



Question Number : 51 Question Id : 22742714760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Where is the definition of yoga ‘manah prashamanopayo yoga ityabhidheeyate’ given in the Mahopanishad?

1. The Mahopanishad 1/13
2. The Mahopanishad 2/47
J. The Mahopanishad 4/4
4. The Mahopanishad 5/42
Options:
22742757501. 1
22742757502. 2
22742757503. 3

22742757504. 4

Question Number : 51 Question Id : 22742714760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757501. 1
22742757502. 2
22742757503. 3

22742757504. 4



Question Number : 52 Question Id : 22742714761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Asadkarnadupangrahanat sarvasambhavaabhaavaat.
Skatasya shakyakarnat kaaranbhavachch Satkaryam' To which philosophy the above lines are associated?

1. Nyay Philosophy

2. Vaisheshik Philosophy
3. Sankhya philosophy
4. Meenansa philosophy
Options:
22742757505. 1
22742757506. 2
22742757507. 3

22742757508. 4

Question Number : 52 Question Id : 22742714761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757505. 1
22742757506. 2
22742757507. 3

22742757508. 4



Question Number : 53 Question Id : 22742714762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which prakaran of yagyaviakyasmriti, the technique of meditation of karmendriyas place of pranas and atma is deseribed?

1. Brahmachari prakaran

2 Snatak Dharma Prakaran
J. Divya Prakaran

4 Yati Dharma Prakaran
Options:
22742757509. 1
22742757510. 2
22742757511. 3

22742757512. 4

Question Number : 53 Question Id : 22742714762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427575009. 1
22742757510. 2
22742757511.3

22742757512. 4



Question Number : 54 Question Id : 22742714763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
To which part of yoga sadhna mumukchhatva is associated?

1. Bhakti yoga
2. Raja yoga

3. Gyan yoga

4 Karma yoga
Options :
22742757513. 1
22742757514. 2
22742757515. 3

22742757516. 4

Question Number : 54 Question Id : 22742714763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757513.1

22742757514. 2

22742757515. 3

22742757516. 4

Question Number : 55 Question Id : 22742714764 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Aitreya upanishad is related to

_Yajurveda
Samveda

tharva veda
- Rigveda

[

=

Options :

22742757517. 1
22742757518. 2
22742757519. 3

22742757520. 4

Question Number : 55 Question Id : 22742714764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757517. 1
22742757518. 2
22742757519. 3

22742757520. 4

Question Number : 56 Question Id : 22742714765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to chhandogya upanishad udgeeth is:

Options :

22742757521. 1
22742757522. 2
22742757523. 3

22742757524. 4

Question Number : 56 Question Id : 22742714765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757521. 1
22742757522. 2
22742757523. 3

22742757524. 4

Question Number : 57 Question Id : 22742714766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

According to aitreya upanishad, 'fire' (agni) emanated from:

1. The mouth (mukha)
2. Vocal Chord (vak)
3. Evyes (Netra)

4 Vision (Chakshu)
Options :
22742757525. 1
22742757526. 2
22742757527. 3

22742757528. 4

Question Number : 57 Question Id : 22742714766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757525. 1
22742757526. 2
22742757527. 3

22742757528. 4

Question Number : 58 Question Id : 22742714767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the Bhagavadgita "samah sarveshu bhuteshu madbhaktim labhate param” bears correct reference to:

1.18/54

2. 18/56

3 11154

4 12104

Options :
22742757529. 1
22742757530. 2
22742757531.3

22742757532. 4

Question Number : 58 Question Id : 22742714767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757529. 1
22742757530. 2
22742757531.3

22742757532. 4

Question Number : 59 Question Id : 22742714768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In accordance with yoga tatvopanishad the region ranging from heart zone fo the eyebrows has been referred to be belonging to:

1. Fire (Agni)

2. Air (Vayu)

3. earth (Prithvi)

4. Sky (Akash)
Options :
22742757533. 1
22742757534. 2
22742757535. 3

22742757536. 4

Question Number : 59 Question Id : 22742714768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757533. 1
22742757534, 2
22742757535. 3

22742757536. 4

Question Number : 60 Question Id : 22742714769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In accordance with yoga chudamani Upanishad, ‘A" kar where ingrained in Omkara in Jagrat state among all organisms

1. Netra

2. Kantha

3. Hridaya

4 Naabhi

Options :
22742757537. 1
22742757538. 2
22742757539. 3

22742757540. 4

Question Number : 60 Question Id : 22742714769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
N ISMI JUHYG & HFER SBR B A DR, G SiIquTRdl B S I H Sl (a8 Bl 52

193

2. PUg

3 gad

4 1Y

Options:
22742757537. 1
22742757538. 2
22742757539. 3

22742757540. 4

Question Number : 61 Question Id : 22742714770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to yoga tatvopanishad, which regular practice of mudra increases Jatharagni

1. Mahamudra

2. Viparitkarni

3. Khechari

4. Tadagi
Options :
22742757541. 1
22742757542. 2
22742757543. 3

22742757544. 4

Question Number : 61 Question Id : 22742714770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ANTIEIUHYEE & SHIER Y 51 &1 HaiEd S0 Se01i et Bl 82

1. HeHgl

2. [dU2[dhl

3 g

4. I3l
Options:
22742757541. 1
22742757542. 2
22742757543.3

22742757544. 4

Question Number : 62 Question Id : 22742714771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to yoga sutra which knowledge (Buddhi) is different from the knowledge acquired through listening and inference

1. Adhyatm Prasad

2. Ritambhara Pragya

3. Savichar

4 Ekagra Avastha
Options :
22742757545. 1
22742757546. 2
22742757547. 3

22742757548. 4

Question Number : 62 Question Id : 22742714771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AHEH UHIE
2. HdPRT U
3. HidaR

4 UpH AT
Options:
22742757545. 1
22742757546. 2
22742757547.3

22742757548. 4

Question Number : 63 Question Id : 22742714772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Where has Drishya been described in yoga sutra?

1407

2.2118

3321

4 4112
Options :
22742757549. 1
22742757550. 2
22742757551. 3

22742757552. 4

Question Number : 63 Question Id : 22742714772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T20 &I gui- GFT G & Hel [Hadl 87

1. 407

2.2/18

321

4 412
Options:
22742757549. 1
22742757550. 2
22742757551.3

22742757552. 4

Question Number : 64 Question Id : 22742714773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Lack of Avidya leads to lack of samyoga. This has been described in yogsutra in which of the following terms?

- Vivekkhyati
4. Dharmmegha Samadhi

Options :

22742757553. 1
22742757554. 2
22742757555. 3
22742757556. 4

Question Number : 64 Question Id : 22742714773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i
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1. $ad
2. THIe
4 yioy g1y

Al

Options:

22742757553. 1
22742757554, 2
22742757555. 3

22742757556. 4

Question Number : 65 Question Id : 22742714774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Nirmanchitta emanates from Asmita. Where has it been described in patanjal yogsutra

1.1/30

2.215

3319

4 4/4

Options :
22742757557. 1
22742757558. 2
22742757559. 3

22742757560. 4

Question Number : 65 Question Id : 22742714774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
OIS g 9a | fAaiuifad doae Hidr ¥ 3ad Bl g, aftid &-

0
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O
o = o

e

Options:

22742757557. 1
22742757558. 2
22742757559. 3

22742757560. 4

Question Number : 66 Question Id : 22742714775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to Hatha yoga pradipika, which musical instrument sound is heard in the parichayaavastha of Nadaanusandhan?

1 Veena

2. Marda

3. Bheri

4 Kwanak
Options :
22742757561. 1
22742757562. 2
22742757563. 3

22742757564. 4

Question Number : 66 Question Id : 22742714775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 9Ion

2 HGd (GId)
3 o

4 BUD

Options:

22742757561. 1
22742757562. 2
22742757563.3

22742757564. 4

Question Number : 67 Question Id : 22742714776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many marma sthanas have been described in Vasistha Samhita?

_ Fifteen

. Eighteen

- Twenty five
. Thirty four

[ s

o

Options :

22742757565. 1
22742757566. 2
22742757567. 3

22742757568. 4

Question Number : 67 Question Id : 22742714776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
qRgfed H e 7 T @1 qui fepan 1 82

1. Use
2. 3ERE

4 didg
Options:
22742757565. 1
22742757566. 2
22742757567. 3

22742757568. 4

Question Number : 68 Question Id : 22742714777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Pranayamas does not mention in Hatharatnavali?

1. Kewali

2. Moorchha

3. Plavini

4 Sitkaari
Options :
22742757569. 1
22742757570. 2
22742757571. 3

22742757572. 4

Question Number : 68 Question Id : 22742714777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 H ¥ S19-91 WU ge3draat H T8l £2

P

Pat

Options:

22742757569. 1
22742757570. 2
22742757571.3
22742757572. 4

Question Number : 69 Question Id : 22742714778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In Hatha Pradeepika which of the Bandhas has been prescribed to be carried out at the end of poorak?

1. Jalandhar Bandha
2. Uddiyan Bandha
3. Mool Bandha

4 Maha Bandha
Options :
22742757573. 1
22742757574, 2
22742757575. 3

22742757576. 4

Question Number : 69 Question Id : 22742714778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. SllcER &%

2. 35T 7

3 HA &

4 Hgld#
Options:
22742757573. 1
22742757574. 2
22742757575. 3

22742757576. 4

Question Number : 70 Question Id : 22742714779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which is not an essential Amino Acid?

1. Tryptophane
2 Valine

3. Agrinine

4 Xylene
Options :
22742757577. 1
22742757578. 2
22742757579. 3

22742757580. 4

Question Number : 70 Question Id : 22742714779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. ﬁ':: -ji'_!
2. ddlH
g

— —
Wil

:

4: EIERIE
Options:
22742757577. 1
22742757578. 2
22742757579. 3
22742757580. 4

Question Number : 71 Question Id : 22742714780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Those person who are not able to maintian the social relationship with the people and not have interest in these refations that means they lack of
social skills. This indicates which personality disorder?

1. Paranoid personality disorder

2. Schizoid personality disorder

3. Anti-social personality disorder
4. Boarder line personality disorder

Options :

22742757581. 1
22742757582. 2
22742757583. 3

22742757584. 4

Question Number : 71 Question Id : 22742714780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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1. TR - S i gl
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Options:

22742757581. 1
22742757582. 2
22742757583. 3

22742757584. 4

Question Number : 72 Question Id : 22742714781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year American psychological society (APS) was stablished for the strengthen of teachers and practitioners of psychology

Options :

22742757585. 1
22742757586. 2
22742757587. 3
22742757588. 4

Question Number : 72 Question Id : 22742714781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757585. 1
22742757586. 2
22742757587.3

22742757588. 4

Question Number : 73 Question Id : 22742714782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Gestalt Approach’ is known for the explanation of which concept

. Theory of perception

. Theory of connectionism

. Stimulus — response approach
. Theory of learning

[

o

Options :

22742757589. 1
22742757590. 2
22742757591. 3

22742757592. 4

Question Number : 73 Question Id : 22742714782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TReTee JUNTH 9 YRUN 1 S0 Hedll 87

1. TH&I0T BT fgid
2 Hddreg &1 fbgid
3. JEUS - Sifhar JUFH
4 3TH BT fHgid

Options:

22742757589. 1
22742757590. 2
22742757591.3
22742757592. 4

Question Number : 74 Question Id : 22742714783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Evyes shine and one appear impressive due to which prana vayu?

- Samana

- Koorma

_ Kirikal

- Devadatta

[ s

o

Options :

22742757593. 1
22742757594. 2
22742757595. 3

22742757596. 4

Question Number : 74 Question Id : 22742714783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. °HH

2. 34

3. ddd

4. Gdg
Options:
22742757593. 1
22742757594, 2
22742757595. 3

22742757596. 4

Question Number : 75 Question Id : 22742714784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which step in pranayama initiates powerful parasympathetic and sympathetic reflexes.

1. Rechak

2. Purak

3. Kumbhaka

4. Normal breathing
Options :
22742757597. 1
22742757598. 2
22742757599. 3

22742757600. 4

Question Number : 75 Question Id : 22742714784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TOTaTE &1 g ey § Iigaelt e dt aur e ufiad e 87
1. 9d

2. Rp

3 PHSD

4. GERT 419

Options:

22742757597. 1

22742757598. 2

22742757599. 3

22742757600. 4

Question Number : 76 Question Id : 22742714785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the location of Apas tattwa in the body?

- Naval and knee
- Head and chest
- Knee and Ankle
. Stomach and Naval

[ s

o

Options :

22742757601. 1
22742757602. 2
22742757603. 3

22742757604. 4

Question Number : 76 Question Id : 22742714785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 91 3R geAl
2 RR IR Brdl
3. g1 3R e
4 U R AMY

Options:

22742757601. 1
22742757602. 2
22742757603. 3
22742757604. 4

Question Number : 77 Question Id : 22742714786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which virtue should be cultivated for vice people?

. Gladness

. Compassion
. Friendliness
_Indifference

[ s

o

Options :

22742757605. 1
22742757606. 2
22742757607. 3

22742757608. 4

Question Number : 77 Question Id : 22742714786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
GRER] Sidagi o e1Y fod Wgaur o1 fash1y fepdn ST J1ige?

1. UHdd

2 DU

3. fo=a

4 JUen
Options:
22742757605. 1
22742757606. 2
22742757607. 3

22742757608. 4

Question Number : 78 Question Id : 22742714787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which set of asanas are recommended for cardiac patients?

Vajrasana, shashankasana, sarpasana, yoga mudra and bhunamanasana

- Adhomukha vrikshasrana, padahastasana, sarvargasana and vajrasana

. Shashankasana, karnapidasana, sarpasana, yoga mudra and bhunamanasana
Virkshasana, padahastasana, halasana, and yoga mudra

[ L

F =9

Options :

227427576009. 1
22742757610. 2
22742757611. 3

22742757612. 4

Question Number : 78 Question Id : 22742714787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. GIEH, TBTE, GUTE-, T 45T, YAHTE
2 3HHE F&TE, TG, FaTE 3 T

3. ARG, BTSN, Ui, g a1 R YF9-1g4
4. JETEH, UICeSTa, ars 3 I Hal

Options:

227427576009. 1
22742757610. 2
22742757611.3

22742757612. 4

Question Number : 79 Question Id : 22742714788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which hormone control the emotional and Instinct sexual behaviour in human?

1. Hypothalamus releasing hormone
2. Testesterone

3. Thyroxin

4 Cortisol

Options :

22742757613. 1

22742757614. 2

22742757615. 3

22742757616. 4

Question Number : 79 Question Id : 22742714788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757613. 1
22742757614. 2
22742757615.3

22742757616. 4

Question Number : 80 Question Id : 22742714789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which type of high level hormones are responsible for cardiac damage?

1. Androgenic hormones

2. Thyroid hormones

3. Pancreatic hormones

4 Hormones of pineal gland

Options :

22742757617. 1
22742757618. 2
22742757619. 3
22742757620. 4

Question Number : 80 Question Id : 22742714789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. Ugloiie gMi=g

2. 34512: = Qll:i o |

3. Y gH

4 Tofagd 4y & ey
Options:
22742757617.1
22742757618. 2
22742757619.3

22742757620. 4

Question Number : 81 Question Id : 22742714790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which yoga practices are most appropriate for the patient suffering from goiter?

. Sarvangasana with pashini mudra

- Vipreetkarni mudra with ujjayi pranayama
. Halasana with yoga mudra

. Sarvangasana with yoga mudra

[

o

Options :

22742757621. 1
22742757622. 2
22742757623. 3

22742757624. 4

Question Number : 81 Question Id : 22742714790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. TIRAT o & F1Y FaFTe

2. I WA & 1Y [quidd ol gal
3. T Hal & Q1Y g

4. I 731 & 91 Taime

Options:

22742757621. 1
22742757622. 2
22742757623.3

22742757624. 4

Question Number : 82 Question Id : 22742714791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Assignments for extra practice of selected yoqic practices out of class hours enhance skil and performance levels of the students’is resembling
which type of teaching method

1. Project Method

2. Demonstration Method

3. Directed-Practice Method

4 Response-fo-Instruction Method

Options :

22742757625. 1
22742757626. 2
22742757627. 3
22742757628. 4

Question Number : 82 Question Id : 22742714791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757625. 1
22742757626. 2
22742757627. 3

22742757628. 4

Question Number : 83 Question Id : 22742714792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In the yoga sutra, which of the following is ‘Prachchhardana vidharanabhyam va pranasya’ means of chitha prashadan?

1. First

2. Second

3. Third

4 Fourth
Options :
22742757629. 1
22742757630. 2
22742757631.3

22742757632. 4

Question Number : 83 Question Id : 22742714792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757629. 1
22742757630. 2
22742757631.3

22742757632. 4

Question Number : 84 Question Id : 22742714793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In the current scenario, which teaching approach is getting emphasis in education system?

1. Teacher Centred Approach
2. Student Centred Approach
3. Universities Centred Approach
4. Technology centred Approach

Options :

22742757633. 1
22742757634. 2
22742757635. 3

22742757636. 4

Question Number : 84 Question Id : 22742714793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. IS Pigd IUNH
2. Tt fgd gurm
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Options:

22742757633. 1
22742757634. 2
22742757635.3
22742757636. 4

Question Number : 85 Question Id : 22742714794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A person who is desirous of adjusting his whole organization to a new situation organized and guided by the educator is called

1. Teacher

2. Student

3. Curriculum

4. Education Organization
Options :
22742757637. 1
22742757638. 2
22742757639. 3

22742757640. 4

Question Number : 85 Question Id : 22742714794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
5 ekt o 30 T3 1 g1 e e et g1 Tiod iR i 7 fRufd § SHiford &3 @1 3a3d aidl 5, Feand o

1. HE0

2 foeml

RRVIGIEE

4 e dRm
Options:
22742757637. 1
22742757638. 2
22742757639. 3

22742757640. 4

Question Number : 86 Question Id : 22742714795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many Pranayamas are mentioned in the Vashishtha samhita?

_Three
. Four
- Six

. Eight

[

o

Options :

22742757641. 1
22742757642. 2
22742757643. 3

22742757644. 4

Question Number : 86 Question Id : 22742714795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gfYy dfgar & fva USR & UIvmaE 99 22

1.dH

2. dRR

3. 9:

4 3d
Options:
22742757641. 1
22742757642, 2
22742757643. 3

22742757644. 4

Question Number : 87 Question Id : 22742714796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to yogbeeja, the method of sheetali pranayama is

1. Inhale air through the rounded tongue exhale it through the nostrils
2. Inhale air through the mouth and exhale it through the nostrils

3. Inhale air from both the nostrils and exhale it through the left nostril
4. Inhale air through the mouth and exhale it through the mouth itself

Options :

22742757645. 1
22742757646. 2
22742757647. 3

22742757648. 4

Question Number : 87 Question Id : 22742714796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &iel & SFER e HomaH @1 &3t §-

1. 71Te1 Torgl & 0l 9 a1g Wb A1 § FaraHT|
2. 79 U 9 Wi & A4e] § HaeHll

3. QT AR ¥ 9 9 9 ARIRY § e
4. 9 U 9 dex 99 4 & Farer|

Options:

22742757645. 1
22742757646. 2
22742757647.3

22742757648. 4

Question Number : 88 Question Id : 22742714797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to the Hathratnawali, while practicing khechari mudra, the term 'Gomansbhakshan' means

1. Activate the sushumna nadi

2. Practicing Shakti chalan

3. Touch the palate with the tongue
4. Movement of the tongue

Options :

22742757649. 1
22742757650. 2
22742757651. 3
22742757652. 4

Question Number : 88 Question Id : 22742714797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SAIAITa & HTOR Wl a1 & 3narg § Taigyer o @ o 82

1. qUHI AIS] B geHl
2. Tfgadre &l

3. TG &1 I & o1
4. TSTg1 &1 =1 &3

Options:

22742757649. 1
22742757650. 2
22742757651.3

22742757652. 4

Question Number : 89 Question Id : 22742714798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to the Hathapradeepika, which asana is required for practising Nadanusandhan

Muktasana

- Swastikasana
- Sukhasana

. Padmasana

L kO =

F =9

Options :

22742757653. 1
22742757654. 2
22742757655. 3
22742757656. 4

Question Number : 89 Question Id : 22742714798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SAUCIU® H AUy o 1Y & U g 319 o 9841 91 82

1. HadT4-

3. 44
4 UsIE4

Options:

22742757653. 1
22742757654. 2
22742757655. 3

22742757656. 4

Question Number : 90 Question Id : 22742714799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to the Kathopanishada, through which of the following Atma cannot be known
A_ By discourse (pravachan)

B. By grace of the god

C. By Discussion

D. By Studies of scriptures

E. By Yajna

Choose the correct answer from the options given below:

1. A, Cand D Only
2. B, Eand D Only
3.C,Dand B Only
4 B,Aand D Only

Options :

22742757657. 1
22742757658. 2
22742757659. 3

22742757660. 4

Question Number : 90 Question Id : 22742714799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ha NG & HTUR FU H § f6Ud gR1 AT S Ta1 SH1 Sl ohar?
A YagT g

B. R PUTY

C. 9af & gRI

D. I%E AT H

ET9d

2 feu 7T fAeedl § § T8t SR &1 994 i

1. ®adA C,D
2 ®ddB E D
3. ®ddC, D, B
4 HIAB A D

Options :

22742757657. 1
22742757658. 2
22742757659. 3

22742757660. 4

Question Number : 91 Question Id : 22742714800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the Vaisheshik philosphy which of the following are matter (padarth):
A. Prameya

B. Dravya

C. Prayojana

D. Guna

E. Karma

Choose the correct answer from the options given below:

1. A, Band C Only
2. B, Cand D Only
3. B, D and E Only
4 C,DandE Only

Options :

22742757661. 1
22742757662. 2
22742757663. 3

22742757664. 4

Question Number : 91 Question Id : 22742714800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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g feu e fowedl & ¥ 981 SR &1 99 DI

1. $ddA B C
2 ®adB. C D
3. ®adB. D E
4 HAAC D E
Options :

22742757661. 1
22742757662. 2
22742757663. 3

22742757664. 4

Question Number : 92 Question Id : 22742714801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the parts of the Dwadas Nidana as per the Budhist ideology?
A Jalpa

B. Jati

C. Trishna

D. Vigyan

E. Guna

Choose the correct answer from the options given below:

1. A Band C Only
2. B, Cand D Only
3. C, D and E Only
4 A CandE Only

Options :

22742757665. 1
22742757666. 2
22742757667. 3

22742757668. 4

Question Number : 92 Question Id : 22742714801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C
2 ®adB. C D
3. ®adC D E
4 HAdA C E
Options :

22742757665. 1
22742757666. 2
22742757667. 3

22742757668. 4

Question Number : 93 Question Id : 22742714802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In accordance with Ishavasyopanishad ‘Mrityumteertva’ pertains to
A Vidya

B. Avidya

C. Sambhuti

D. Vinash

E. Samsara

Choose the correct answer from the options given below:

1. Aand C Only
2. B and D Only
3. B and E Only
4. D and E Only

Options :

22742757669. 1
22742757670. 2
22742757671.3

22742757672. 4

Question Number : 93 Question Id : 22742714802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SAARNHYEG & IR Fddial Yeidd o-
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-

g feu e fowedl & ¥ 981 SR &1 99 DI

Options :

22742757669. 1
22742757670. 2
22742757671.3

22742757672. 4

Question Number : 94 Question Id : 22742714803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In accordance with the Bhagavadgita which of the following are not the characteristics of Rajasik Ahaar
A Laced with salt (Lavonayukta)

B. Snigdha

C. Very hot

D. Long-lasting

E. Delicious (Rasayukta)

Choose the correct answer from the options given below:

1.A Band C Only
2.B,Cand D Only
3.B,Dand E Only
4. C, D and E Only

Options :

22742757673. 1
22742757674. 2
22742757675. 3
22742757676. 4

Question Number : 94 Question Id : 22742714803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C
2 ®adB. C D
3. ®adB. D E
4 HAAC D E
Options :

22742757673. 1
22742757674 2
22742757675. 3

22742757676. 4

Question Number : 95 Question Id : 22742714804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Dhyanbindu Upanishad supreme soul (parmatma) has been referred to as
A_Trividh Brahma

B. Triguna

C. Trayakshar

D. Ardha matra

E. Vedajna

Choose the correct answer from the options given below:

1. A Band C Only
2. A Cand D Only
3.C, Eand B Only
4 C, D and E Only

Options :

22742757677. 1
22742757678. 2
22742757679. 3

22742757680. 4

Question Number : 95 Question Id : 22742714804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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E. dq
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1 feu e fadedl § ¥ Tl IR &1 98- Sifeit|

1. $ddA B C
2 HadA C D
3. ®adC E. B
4 HAAC D E
Options :
227427576771
22742757678. 2
22742757679. 3

22742757680. 4

Question Number : 96 Question Id : 22742714805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which ones of the following are the means for the awakening of kundalini (kundalini Jagran) in yoga kundlupanishada
A. Saraswati chalan

B. Pranayam

C. Pratyahar

D. Kriya

E Asana

Choose the correct answer from the options given below:

1. Aand B Only
2.Band C Only
3. Cand D Only
4. Dand E Only

Options :

22742757681. 1
22742757682. 2
22742757683. 3

22742757684. 4

Question Number : 96 Question Id : 22742714805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A Tl 9red

B. IUOH
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D. fshar

E. 3
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1. PAT A IR B
2 HadB AR C
3. Had C 3R D
4 HadD AR E
Options :

22742757681. 1
22742757682. 2
22742757683. 3

22742757684. 4

Question Number : 97 Question Id : 22742714806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The attainment of Janana in the stage of Dharmmagh Samadhi has been described in yoga sutras as:
A_Klesh-karm Nivritti

B. Anantyaat

C. Gyeam Alpam

D. Chittam Sarvartham

E. Hanmesham Kleshvaduktam

Choose the correct answer from the options given below:

1.Aand B Only
2. Band C Only
3. Cand D Only
4. D and E Only

Options :

22742757685. 1
22742757686. 2
22742757687. 3

22742757688. 4

Question Number : 97 Question Id : 22742714806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PAT A IR B
2 HadB AR C
3. Had C 3R D
4 HadD AR E
Options :

22742757685. 1
22742757686. 2
22742757687. 3

22742757688. 4

Question Number : 98 Question Id : 22742714807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the kinds of Drishya according to yagsutra?
A_Vishesh

B. Pratyayanupashya

C. Avishesh

D. Aling

E. Drishimatra

Choose the correct answer from the options given below:

1. A, Band C Only
2. A CandD Only
3. A BandE Only
4 B, CandE Only

Options :

22742757689. 1
22742757690. 2
22742757691. 3
22742757692. 4

Question Number : 98 Question Id : 22742714807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A faxrg

B. HHGTU=g

C. a2y

D. AT
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= ST 7 fadedl & 9 I8! SR &1 999 Bieg|

1. $ddA B C
2 HadA C D
3. ®ddA B E
4 HadB. C E
Options :
22742757689. 1
22742757690. 2
22742757691. 3

22742757692. 4

Question Number : 99 Question Id : 22742714808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Hatha pradeepika, the benefits of mool bandha described are:
A_Nadi Shuddhi

B. Union of Apaan and Prana

C. Deficiency of defacation

D. Even the old becomes akin to the youth

E. The stage of contentment is attained

Choose the correct answer from the options given below:

1. A, Band C Only
2.B, Cand D Only
3. C, Dand E Only
4 A CandE Only

Options :

22742757693. 1
22742757694. 2
22742757695. 3
22742757696. 4

Question Number : 99 Question Id : 22742714808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. HddA B, C
2 ®ddB,C D
3. ®ddC, D, E
4 HAAA, C E

Options :

22742757693. 1
22742757694. 2
22742757695. 3
22742757696. 4

Question Number : 100 Question Id : 22742714809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Vasishtha sambhita, the physical location of Apaanvayu in human body are
A Janu

B. Jangha

C. Toe

D. Centre of the Navel (Nabhimoola)

E. Kantha

Choose the correct answer from the options given below:

1. A BandD Only
2. B, Cand D Only
3. C,DandE Only
4 A Cand E Only

Options :

22742757697. 1
22742757698. 2
22742757699. 3

22742757700. 4

Question Number : 100 Question Id : 22742714809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B D
2 ®adB. C D
3. ®adC D E
4 HAdA C E
Options :

22742757697. 1
22742757698. 2
22742757699. 3

22742757700. 4

Question Number : 101 Question Id : 22742714810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Hatha pradeepika, the benefits of Ujjayi pranayam are
A_ Cure of naadi-disorder

B. Cure of vatta disorder

C. Cure of cough-borne disorder

D. Cure of ascites disease

E. Cure of hunger and thirst

Choose the correct answer from the options given below:

1. A, Cand D Only
2. B, Cand E Only
3. C, Dand E Only
4 B, Cand D Only

Options :

22742757701. 1
22742757702. 2
22742757703. 3
22742757704. 4

Question Number : 101 Question Id : 22742714810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA C. D
2 ®adB. C E
3. ®adC D E
4 HAAB. C D
Options :

22742757701. 1
22742757702. 2
22742757703. 3

22742757704. 4

Question Number : 102 Question Id : 22742714811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Due to deficiency of proteins, which diseases can occure in childhood?
A Marasmas

B. Kwashiorkor

C. Rickets

D. Kerato-Malacia

E. Xerophthalmia

Choose the most appropriat answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand D Only
4. D and E Only

Options :

22742757705. 1
22742757706. 2
22742757707. 3
22742757708. 4

Question Number : 102 Question Id : 22742714811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. HddA B

2 HadB. C

3. ®@ad C. D

4 HadD. E
Options :
22742757705. 1
22742757706. 2
22742757707. 3

22742757708. 4

Question Number : 103 Question Id : 22742714812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which bones are not the part of appendicular skeleton?
A_Clavicle

B. Scapula

C. Cervical Vertebra

D. Pelvis

E. Sternum

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand E Only
4 Aand E Only

Options :

22742757709. 1
22742757710. 2
22742757711.3

22742757712. 4

Question Number : 103 Question Id : 22742714812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. HddA B

2 HadB. C

3. ®adC E

4 HAdA E
Options :
227427577009. 1
22742757710. 2
22742757711. 3

22742757712. 4

Question Number : 104 Question Id : 22742714813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ifa person s lifing his left leq towards left side and retum it while this movement the knees are straight. These both movements are know as
A Flexion

B. Extension

C. Abduction

D. Adduction

E Inversion

Choose the correct answer from the options given below;

1. Aand B Only
2. Band E Only
3. Cand D Only
4 Dand E Only

Options :

22742757713. 1
22742757714. 2
22742757715. 3
22742757716. 4

Question Number : 104 Question Id : 22742714813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757713. 1
22742757714, 2
22742757715. 3

22742757716. 4

Question Number : 105 Question Id : 22742714814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which sufferings (Dukh) saddens the mind and in which pada of the yogsutra it has been mentioned ?
A Vartman Dukh

B. Anagat Dukh

C. Sadhan Pada

D. Vibhuti Pada

E. Atit Dukh

Choose the most appropriate answer from the options given below:

1. B and C Only
2. A and B Only
3. Cand D Only
4. D and E Only

Options :

22742757717. 1
22742757718. 2
22742757719. 3

22742757720. 4

Question Number : 105 Question Id : 22742714814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A GdOHF @

B. 3R @

C. UIEF UIG

D. fayfa urg

E 3fdid g™

- —

i feu e fased! § ¥ gad 3Ugad IR &I 99 DI

1. $ddB. C

2 Had A B

3. ®@ad C. D

4 HadD. E
Options :
22742757717. 1
22742757718. 2
22742757719. 3

22742757720. 4

Question Number : 106 Question Id : 22742714815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the Hatha pradeepika, food that adversely affect health are:
A Reheated

B. Parwal

C. Excessive Satl

D. Butter

E. Excessive Sour substances

Choose the correct answer from the options given below:

1. A, Band C Only
2. A CandE Only
3. B, Dand E Only
4. C, DandE Only

Options :

22742757721. 1
22742757722. 2
22742757723.3
22742757724. 4

Question Number : 106 Question Id : 22742714815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



23 WeITUdl & 3UR, Wy & o sifgds sier -
AT 9 T foar gan

B. URad

C. ¥ TAE

D. A

E. 3fft/® Werg

1 feu e fadedl § ¥ Tl IR &1 98- Sifeit|

1. $ddA B C
2 HadA C E
3. ®adB. D E
4 HAAC D E
Options :

22742757721. 1
227427577222
22742757723. 3

22742757724. 4

Question Number : 107 Question Id : 22742714816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the yogsutra, what are the essentials for positive aptitude?
A simplicity

B. compassion

C. disregard

D. kindness

E. Friendliness

Choose the correct answer from the options given below:

1. B, Cand E Only
2. A BandD Only
3. C, Dand E Only
4 E, B andA Only

Options :

22742757725. 1
22742757726. 2
22742757727. 3
22742757728. 4

Question Number : 107 Question Id : 22742714816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR G & HTUR ORIAD HTHG @ [T FT TGS 52
A Tgordl

B. T

C. &

D. STl

P

SNEFGI

2 feu 7T fAeedl § § T8t SR &1 994 i

1. $9dB C E
2 ®adA B. D
3. ®adC D E
4 HAAE. B, A
Options :
22742757725. 1
22742757726. 2
22742757727.3

22742757728. 4

Question Number : 108 Question Id : 22742714817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Major causes of indigestion are:

A mineral salts deficiency in diet

B. Have hot tea with heating spices

C. Mental and emotional disturbances

D. Taking too much vitamins and Minerals

E. Habit of swallowing air and gluttony

Choose the correct answer from the options given below:

1. A, Band D Only
2. A CandE Only
3. B, Cand D Only
4. C, DandE Only

Options :

22742757729. 1
22742757730. 2
22742757731.3
22742757732. 4

Question Number : 108 Question Id : 22742714817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3{UTE & H¥H SR &-

A AER H Wi Tqu HI HH

B. TRY HYTA! & Ty TRE 919 AT

C. AFRT® SR HIaTeTd faegerd

D. faeTi# SR @i §gd Samar ol

E. 3ifd HieH 3R 9y FTRUI $t 3Mled

J1 feu 70 faeedl § © 98t 3R &1 994 SifeU|

1. %ddA B, D
2 ®adA C E
3. ®ddB,C D
4 ®aAC, D, E

Options :

22742757729. 1
22742757730. 2
22742757731.3
22742757732. 4

Question Number : 109 Question Id : 22742714818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which particular mudra recommended to alleviate premenstrual tension?
A_Maha mudra

B. Nabho Mudra

C. Mahabheda mudra

D. Chinmaya mudra

E. Pashini Mudra

Choose the correct answer from the options given below:

1. Aand D Only
2. Aand C Only
3. B and E Only
4. C and D Only

Options :

22742757733. 1
22742757734. 2
22742757735. 3
22742757736. 4

Question Number : 109 Question Id : 22742714818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IRTIdd o-1d &l &8 & & T $H-91 [929 gz 2aféd g2
A. TeT a1

B. 741 a1

C. HETHE T3l

D. fTo=m g3

E. QT Ha

2 feu 7T fAeedl § § T8t SR &1 994 i

1. $ddA D

2 Had A C

3. ®adB. E

4 HAAC. D
Options :
22742757733. 1
22742757734. 2
22742757735. 3

22742757736. 4

Question Number : 110 Question Id : 22742714819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which asanas help to restore valvular competence after traumatic accidents?
A_ Paschimottansana

B. Parvatasana

C. Sarvangasana

D. Garudasana

E. Gomukhasana

Choose the most appropriate answer from the options given below:

1. A, Cand D Only
2. B, Cand E Only
3. B, Dand E Only
4 A CandE Only

Options :

22742757737. 1
22742757738. 2
22742757739. 3
22742757740. 4

Question Number : 110 Question Id : 22742714819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TGS Ul B dl DUlicd! &l ®I T MU B & o7 DIF-HT {16 7GR 572
A. TEHRIRA

B. UddeH

C. FaieH

D. TeoTe-

E‘ﬂﬂ@iﬁq

i feu 0 famed! © 9 91 SR @1 994 Do |

1. HadA C. D
2. ®9dB.C E
3. ®ddB. D E

4 HIAA CE
Options :
22742757737. 1
22742757738. 2
22742757739. 3

22742757740. 4

Question Number : 111 Question Id : 22742714820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the yogsutra the sampadas (perfections) of bodies are mentioned as
A. Form (Roop)

B. Mahima

C. Beauty (Lavanys)

D. Vashitva

E. Strength (Bala)

Choose the correct answer from the options given below:

1. Aand B Only
2. Aand C Only
3. Band D Only
4 Aand C Only

Options :

22742757741. 1
22742757742. 2
22742757743. 3
22742757744. 4

Question Number : 111 Question Id : 22742714820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR  TRR @1 SR S T &

A ¥Y

- . .

g feu e fowedl & ¥ 981 SR &1 99 DI

1. $ddA B C
2 HadA C D
3. ®adB. D E
4 HAdA C E
Options :

22742757741. 1
22742757742 2
22742757743. 3

22742757744. 4

Question Number : 112 Question Id : 22742714821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are not the mis-conceptions for yoga?

A_Yoga is not meant for the ordinary person

B. Yoga can boost our physical and mental health

C. Yoga is a journey towards inner world

D. Yoga is only a physical exercise

E. Yoga is associated with idea of the miracles.

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand D Only
4. D and E Only

Options :

22742757745. 1
22742757746. 2
22742757747.3

22742757748. 4

Question Number : 112 Question Id : 22742714821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgfafad | 9 @9 O & 9y | Yifodl 951 62

A TN HIYRY Afed & o T8 2

B. O1 g9 RIS R AFRS W # gig sl 3|

C. O AJwvd &1 TET & |

D. O $ad IRIRG AT gl

E O 99@RI & fdaR 4 Tdg 2|

-

i< fau T fa@edl © T ged 3Uged IR @1 99 DI

1. Had A, B
2 ®adaB, C
3. ®ddC, D
4 ®adaD, C

Options :

22742757745. 1
22742757746. 2
22742757747.3

22742757748. 4

Question Number : 113 Question Id : 22742714822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are not the chanacteisties for a good teacher?

A A genuine Interest in communication

B. Incompetence in elaboration of topic

C. A willingness to share interest and experiences with others

D. Inability to set a good example through life style and behavior
E._ A sense of professional responsibility towards the students
Choose the correct answer from the options given below:

1. Aand B Only
2. B and D Only
3. Cand D Only
4. D and E Only

Options :

22742757749. 1
22742757750. 2
22742757751.3

22742757752. 4

Question Number : 113 Question Id : 22742714822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ol & O o1 0o o= A0S 31 [G2yar 78] 82

A TUgor H aRafas AfiRET

B. fa9g & &= &3 H 318

C. 30 & 1Y ST TYUT 3Hd &I T B § T

D. Siia2IcH 94T TR0 §RT w31 3alexvl WEdd & H &l

E. f[qenfidal & ufa aaaite SOt ©f HIal

i< fau T fa@edl © T ged 3Uged IR @1 99 DI

1. Had A, B
2 ®qdB, D
3. ®ddC, D
4 ®aaD, E

Options :

22742757749. 1
22742757750. 2
22742757751. 3
22742757752. 4

Question Number : 114 Question Id : 22742714823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the Gherand Sambhita, for practicing Mahamudra, it is instructed to
A_ Pull the navel backward

B. Press the anal region with the left ankle

C. Shrink the throat

D. Keep the tongue at the cavity of the upper palate

E. Keep the eyes on the eyebrow centre

Choose the correct answer from the options given below:

1. B, Cand E Only
2. A BandC Only
3. B, Cand D Only
4. C, DandE Only

Options :

22742757753. 1
22742757754. 2
22742757755. 3
22742757756. 4

Question Number : 114 Question Id : 22742714823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[ e VR e Y

TNUS Tigdl & SFOR Jers & 199 § FE R faar w2

A T @I Ui WigeT

B. 914 2@+ T g1 &I UieH

C. DU IPIdd DI

D. foTgT &1 HuTd $e § Tl

E. P YAy 3G

< fGu 7T fgwedl & T 981 SR @1 994 S|

1. ®%4ddB, C E
2 ®adA, B, C
3. ®ddB,C D
4 ®aAC, D, E

Options :

22742757753. 1
22742757754. 2
22742757755. 3

22742757756. 4

Question Number : 115 Question Id : 22742714824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In Hatha pradeepika, the method of Trataka is described as
A_ Focused vision

B. Eyes should focused on the eye-brow center

C. Concentrate on micro goal

D. Focused on the tip of the nostril

E_ Till the Tears come down from the eyes

Choose the correct answer from the options given below:

1. B, D and E Only
2. A BandD Only
3. B, Cand D Only
4 B, Cand D Only

Options :

22742757757. 1
22742757758. 2
22742757759. 3

22742757760. 4

Question Number : 115 Question Id : 22742714824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG Wallud! H Acd &1 fafy Sl 73 ©-
A RRR=f

B. YyAH E®

C. & T8 R USRI

D. TEA TP

E. YU 8 0P

1 feu e fadedl § ¥ Tl IR &1 98- Sifeit|

1. $9dB D E
2 ®adA B. D
3. ®adB. C D
4 HAdA C E
Options :

22742757757. 1
22742757758. 2
22742757759. 3

22742757760. 4

Question Number : 116 Question Id : 22742714825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the yogsutra while describing about the Pranav, there is delineation of
A_Recitation of Pranav

B. Concertation on Pranav

C. Meaning of Pranav

D. Recitation of Soaham

E. Feel the meaning of Pranav

Choose the correct answer from the options given below:

1. A Cand E Only
2. B, CandD Only
3. C, D and E Only
4 A DandE Only

Options :

22742757761. 1
22742757762. 2
22742757763. 3

22742757764. 4

Question Number : 116 Question Id : 22742714825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ARA & SR YU & §R H {978 g g-
A. WU &9

B. HUId | 2P

C. WU &7 3%

D. 9IS ®1 Y

E. g 3 &t HIaAT

1 feu e fadedl § ¥ Tl IR &1 98- Sifeit|

1. $ddA C E
2 ®adB. C D
3. ®adC D E
4 HAdA D E
Options :

22742757761. 1
22742757762. 2
22742757763. 3

22742757764. 4

Question Number : 117 Question Id : 22742714826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | and List I

List—1 List—1I

A. Maharshi Dayanand saraswati|l. Jyoti Shakti or Pragya
B. Tulsidas II. Arya bhivinay

C. Shri Aurobindo 1. Winay Patrika

D. Swami Shivanada Saraswati (V. Life Divine

Choose the correct answer from the options given below

1.A-Il,B-IIC,IV,D-I
2A-1,B-UIIC I, D-IV
JA-N,B-1C-Il,D-IV
4 A-IV,B-IIC,1,D-I

Options :

22742757765. 1
22742757766. 2
22742757767. 3
22742757768. 4

Question Number : 117 Question Id : 22742714826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl & 1Y G-Il &1 FAeE Sife]

Gicl® -1l

A. e SO Teead! ||, i mied R W
B. quEare ||, mitE=T

C. #t sRfag IREECREC!

D. Tl Rrars S|V, aEE Sagd

<1 U 7T fodedl | © Tl S &1 999 P

1. All, B-lll, C-1V, D-|
2. A, B-l, G-I, DIV
3. Al B-l, C-II, D-IV
4. AV, B, C-1, D-lI

Options :

22742757765. 1



22742757766. 2
22742757767. 3

22742757768. 4

Question Number : 118 Question Id : 22742714827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the Bhagvadgita Match List | and List 1l

List -1 List—1I

A. Bandham Moksham Cha ya vetti |. Rajsi dhriti

B. Prasangen Dharmakamarthan Dharayate II. Sattvik Sukha
C. na vimunchati Durmedha IIl. Sattviki buddhi
D. Abhyasadramate yatra dukhantam cha nigachhati|[V. Tamasi dhriti

Choose the correct answer from the options given below

1LA-II,B-IC,IVD-I
2A-1LB-IVC, I D-I
3JA-NILB-IIC-I,D-1IV
4 A-IVB-IIC Ill,D-I
Options :

22742757769. 1
22742757770. 2
22742757771. 3

22742757772. 4

Question Number : 118 Question Id : 22742714827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wdgidl & OR, Y- & 9y Tai-1l &1 - DI

-l -l

A X Href T g af I T e

B. WETH @ YR II. e ga

C. 7 Tar=iid gHu . Tt §fe

D. 3gTEIGAd 09 gaENd 9 Frrsia|lv. amet gfd

i feu 7 fadedl 5 § 98l IR &1 99+ g |

1. Adlll, B-l, C-IV, D-lI
2. Al B-Iv, C-1, D-lI
3. All, B-Il, C-l, DIV
4 AV, B-Il, C-lIl, D-I
Options :
22742757769. 1
22742757770. 2
22742757771.3

22742757772. 4

Question Number : 119 Question Id : 22742714828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to yoga chudamanupanishade Match List | and List Il

List—1 List—1I
A_ conversion of food from unsavoury to savoury . Khecharimudra
B. Chanting all through the day and night Il.Sukra and maharaj

C. Being free from disease, death, hunger-thirst and faint|lll. Practice of mahamudra

D. White and red two cloures (Vama) IV. Twenty-one Thousand Six hundred mantras

Choose the correct answer from the options given below

1A=L B=IVC,1 DI
2 A-N.B-IIIC,II.D-I
3A-l,B-IVC-1l. DI
4A-ILB=IC Il D=1V

Options :

22742757773.1



22742757774. 2
22742757775. 3

22742757776. 4

Question Number : 119 Question Id : 22742714828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AR ISHUGUHYG & STER, il & TIY Yi-I| B FEe Siferg|

T il

A. A HIoH &1 93 &1 | == Ha

B e Ta su S AW II. Ts6 aYT HER

C. TR, TN, YA HR T § giaa|ill. HeTHsT B

D. tFg 31X o & gl V. SFB1H BOIR B |1 HA

1 feu v faseal H © Uel 39) &1 9949 Dt |

1. Alll, B-IV, C-1, D-lI
2. AV, B-lll, C-ll, D-I
3. Al B-IV, C-ll, D-I
4 Al B-1, Cll, DIV
Options :
22742757773. 1
22742757774. 2
22742757775. 3

22742757776. 4

Question Number : 120 Question Id : 22742714829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | and List I

List—1 List—1I
A Mahavrat |. Vibhutipada
B. Suksham vishyatvam chaaling paryavasaanam  [Il. Sadhan Pada

C. Kshantatkramyoh Samyamadvivekajam jnananam|lll. Keivalya Pada

D. Farinamaiktvat vastu-tatbvam Y. Samadhi Pada

Choose the correct answer from the options given below

1.A-ILB-IVC-1. D=1l
2A-1,B-lIIC-IlLD-1IV
3A-ILB-IVC-IlIlLD-I
4 A-llLB-1C-IVD-Il
Options :

227427577771
22742757778. 2
22742757779. 3

22742757780. 4

Question Number : 120 Question Id : 22742714829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl & 1Y G-Il &1 FAeE Sife]

Gicl® -l

A. TETEd |, fg¥faE
B. g&afavgd AfagudaamH| ||l SIS
C. &UehHal: SaHIgads T (Ill. Hacadg
D. SRUAE@EGTEH| v, FafiaTg
I feu U fadedl § © Tt 3ok & 9a difod |

1. Al B-IV. C-1. DIl
2 Ad B-Il, C-ll, D-IV
3 Al B-IV. C-lll D-l
4 AJll Bl C-IV, D-II

Options :

22742757777.1



22742757778. 2
22742757779. 3
22742757780. 4

Question Number : 121 Question Id : 22742714830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per Vasishtha samhita Match List | and List |

List -1 List —11

A Yama |. Bhadra
B. Niyama |Il. Koorma
C.Aasana |lll. Japa
D. Upa-pranallVv. Daya

Choose the correct answer from the options given below

1LA-IVB-IIC-1,D-I
2A-1,B-lIIC II-D-1IV
JA-ILB-IC-II-D-1IV
4 A-NlLB-IVC-1l, D-I
Options :

22742757781. 1
22742757782. 2
22742757783. 3

22742757784. 4

Question Number : 121 Question Id : 22742714830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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-l Gigial
ATH |IL¥R
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C.HMNA | &Y
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1. AV, B-IlI, C-I, D-lI
2. A, B-l, G-I, DIV
3. AL, B, G-I, DIV
4. All, B-IV, C-ll, D-l

Options :

22742757781. 1
22742757782. 2
22742757783. 3
22742757784. 4

Question Number : 122 Question Id : 22742714831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | and List I

List—1 List—1l

A_ Thorndike|l. Operant conditioning chamber

B. Skinner |Il. Experiments of stick & box problem
C. Kohler  |lll. Theory of Connectionism

D. Paviov  |IV. Classical conditioning theory

Choose the correct answer from the options given below

1.A-IV,B-IIC-1.D-1l
2A-11LB-1C-ll,D-IV
JA-ILB-NIC-I,D-IV
4 A-N,B-1C-Il,D-IV

Options :

22742757785. 1



22742757786. 2
22742757787. 3

22742757788. 4

Question Number : 122 Question Id : 22742714831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y| & 1Y G-I &1 e Biferg

T -l
A UiHSTE®|. Bty sy T
B T || =57 3R sioT gu= &1 Tam

C. BIgeR |l W &1 fagia
D. UgaEd  |IV. RioA (Fnidee) ey [sid
i fu e famedl § © 95! 3R ol 98- Dife|

1. AV, B-ll, C-1, D-Ill
2. Al B-1, CAIl, DIV
3. Al B-lll, C-I, D-IV
4. A, B-l, C-ll, DIV
Options :
22742757785. 1
22742757786. 2
22742757787. 3

22742757788. 4

Question Number : 123 Question Id : 22742714832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | and List I

List—1 List—11

A. Mooladhar I. Six petals
B. Avirati 1. Klesh

C. Swadhishthan Chakra|lll. Antraya

D. Abhinivesh V. four Petals

Choose the correct answer from the options given below

1L.A-ILB-IC-N,D-IV
2 A-NlLB-lIC-I,D-1IV
3A-IVB-IIC-1.D-1
4 A-IVB-IIC-1l,D-]1
Options :

22742757789. 1
22742757790. 2
22742757791. 3

22742757792. 4

Question Number : 123 Question Id : 22742714832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl & 1Y G-Il &1 FAeE Sife]

Gicl® -1l
A. TETYR | &: g
B. 3ffe=fd 1. =T

C. TIUEE IH |l S
D #HETY IV IR |

<1< U 7T fodedl | ° Sl SR &1 999 Jiteg|

1. All, B-l, CHIl, DIV
2. Al B-ll, C-I, DIV
3. AV, Bl C-1, D-II
4. AV, B-lII, C-lI, D-l

Options :

22742757789. 1



22742757790. 2
22742757791. 3

22742757792. 4

Question Number : 124 Question Id : 22742714833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | and List Il

List -1 List -1

Five Elements|Koshas

A_ Fire |. Pranamaya
B. Earth Il Anadamaya
C. Ether Il. Manomaya
D. Water I'V. Anamaya

Choose the correct answer from the options given below

1LA-ILB-IVC-IIl,D-1
2 A-lLB-IVC-1l,D-I
3A-IWB-IIC-1.D-1
4 A-1,B-UIIC-IV. D1l
Options :

22742757793. 1
22742757794. 2
22742757795. 3

22742757796. 4

Question Number : 124 Question Id : 22742714833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl-1 & 1Y G-Il &1 FAeE Sife|
TqE- (gl
Gk

U9 dd
A S |1 Ao
B.gdl (Il 3H<HY
C. THT=I|lI. FAHE
D.9E  |IV. 3{FHT

=T U 7T fodedl | € Sl SR &1 999 Jiteg|

1. A, B-IV, C-lll, D-II
2. Al B-IV, C-lI, D-l
3. AV, Bl C-1, D-II
4. A, B-ll, C-IV, DI

Options :

22742757793. 1
22742757794, 2
22742757795. 3

22742757796. 4

Question Number : 125 Question Id : 22742714834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | and List I

List—1 List—1I
Yogosutras Related Topic

A_ Tatra niratishayam sarvagyabeejam ||. After getting vivekgyan

B. Tasya saptadha prantbhumih pragyalll. Kaivalya Pada

C. Dharnasu cha yogyata mansah Ill. God

D. Jatyantar parinamah prakrtyapurat (V. Pranayam
Choose the correct answer from the options given below

1LA-ILB-IC-Il,D-1I
2A-1L,B-IIC-1l,D-IV
JA-ILB-IIC-IV,D-|
4 A-IVB-IIC-1l,D-1



Options :

22742757797. 1
22742757798. 2
22742757799. 3

22742757800. 4

Question Number : 125 Question Id : 22742714834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-

Tl-1 & 1Y G-Il &1 FAeE Sife|

gl -1l

A o3 PrRioerd wdseios) |1 fadeam oa s W
B. 5 FaET Aoy wal |11 Saeaurg

C. YR T Traa H:1 Il 3%

D. SI=ORUNOTS: HeheTard ||V, HTomar

=T U 7T fodedl | © Tl S &1 999 i

1. Adlll, B-l, C-IV, D-lI
2. Al B-ll, CIl, DIV
3. A-ll, B-lll, C-IV, D-|
4 AV, B-lll, C-ll, D-I
Options :
22742757797. 1
22742757798. 2
22742757799. 3

22742757800. 4

Question Number : 126 Question Id : 22742714835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | and List I

List—1 List —1I
Mudras Technigue

A_ Shambhavi |I. Pressing perinium region with the heels of the legs

B. Khechari  (Il. Patting hips on the ground

C. Mahavedha |lll. Eyes focussed on the eyebrow centre

O. Mahamudra|lV. Insert the tongue in the cavity of the upper palate
Choose the correct answer from the options given below

1LA-II,B-IVC-Il,D-I
2A-1ILB-IIC-I,D-1IV
3A-1,B-lIIC-ILD-1IV
4 A-IVB-I1C-Il,D-1l
Options :

22742757801. 1
22742757802. 2
22742757803. 3

22742757804. 4

Question Number : 126 Question Id : 22742714835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl & 1Y G-Il &1 FAeE Sife]
- [k
fafy

A TTRIGT ||, 919 &1 ST § gi+ I &1 9ie- &l
B.E@= (Il FawEl & w_adl W 9ew
C. HeY Il yAG =P

D. Tergg|v. g & o s & Wiy S
I feu U fadedl § © Tt 3a) & 98 DI |

1. Alll, B-IV, C-ll, D-|
2. Al B, C-I, DIV
3. A, B-l, G-I, DIV
4. AV, B-l, C-lI, DI




Options :

22742757801. 1
22742757802. 2
22742757803. 3
22742757804. 4

Question Number : 127 Question Id : 22742714836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Give the correct sequence of evolution as per the sankhya philosophy
A Mahat

B. Ahankar

C. Prakriti

D. Panchmahabhoot

E. Panchtanmatra

Chose the correct answer from the options given below

1.A,B,C,D
2. C A B E,
3.A C D E,
4 BAC,D

m m &2 m

Options :

22742757805. 1
22742757806. 2
22742757807. 3
22742757808. 4

Question Number : 127 Question Id : 22742714836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

e GYHHOR PHd of adigd
A. Heq

B. 3lEPR

C. Upfd

D. TN

E. GZId-=m

0o (]

e feu 7Tt fa@medl 3 9§ O8] St @1 994 Bifag|

1.A,B,C,D, E
2. C,ABED
3A,C D EB
4 B,A,C,D, E

Options :

22742757805. 1
22742757806. 2
22742757807. 3

22742757808. 4

Question Number : 128 Question Id : 22742714837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In accordance with yoga vashishtha the correct sequence of the stages of Jnana
A Sattvapatti

B. Tanumanasa

C. Shubhechha

D. Vicharana

E. Asamsakti

Chose the correct answer from the options given below

1.C,D,BAE
2 A BDCE
3BACGCDE
4 E,BACD

Options :

22742757809. 1
22742757810. 2
22742757811. 3

22742757812. 4

Question Number : 128 Question Id : 22742714837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IRTGIRIE & AIER I & YHD13 B T8 HH a1
A G

B. oA

C. YHBI

D. faaRom

=, =

g feu e fowedl & ¥ 981 SR &1 99 DI

1.C,D,BAE
2 A BDCE
3BACGCDE
4 E,BACD

Options :

22742757809. 1
22742757810. 2
22742757811. 3

22742757812. 4

Question Number : 129 Question Id : 22742714838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct of sequence of the following as per slokas figuring in yogtatvopanishad
A_Mahabandh

B. Khechari Mudra

C. Deergh Pranav sandhan

D. Sahjoli

E. Jalandhar Bandh

Chose the correct answer from the options given below

1.B,C,D,EA
2ABECD
3AB,CED
4 AEDCB

Options :

22742757813. 1
22742757814. 2
22742757815. 3

22742757816. 4

Question Number : 129 Question Id : 22742714838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ARTA@I-YG & SIBER Tg1 hH SaIgU
A. T

B. W1 o

C. it JUrd He=

D. TSl

E. SITeRR &4

=, =

g feu e fowedl & ¥ 981 SR &1 99 DI

1.B,C,D,E A
2ABECD
JABCED
4 AAEDCB

Options :

22742757813. 1
22742757814. 2
22742757815. 3

22742757816. 4

Question Number : 130 Question Id : 22742714839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a sequence according to pada of yogsutras
A Kramanyatvam Parinamanyatve Hetuh

B. Pratyayasya Parachittanjanam

C. Tadarth eva Drishyasyatma

D. Tivra Samveganamasannh

E. Drishtra drishyo parktam chittam Sarvartham

Chose the correct answer from the options given below

1.D,G,A B, E
2 A BDCE
JABCED
4 D C BAE

Options :

22742757817. 1
22742757818. 2
22742757819. 3
22742757820. 4

Question Number : 130 Question Id : 22742714839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AN & UTG & SHUR Y T &1 % disu

A PHFICE TRUMAHE 84

B. U Widug-H

C. dod U9 ToTE

D. SEEdTHEE:

E. SPeRRad fud gafdy

-t fau U fadedl & I 981 SR &1 99 DIl |

1.D,G,A B, E
2 A BDCE
JABCED
4 D C BAE

Options :

22742757817. 1
22742757818. 2
22742757819. 3

22742757820. 4

Question Number : 131 Question Id : 22742714840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per shiokas mentionad in Hatha pradeepika, ine correct sequence of the ailments (disorders) caused in the event of vayu tuming hostile is
A. Breath disorder (shuras)

B. Headache (shivedana)

C. Hiccups (Hichaki)

D. Cough

E. Auricular pain (Kama vedana)

Chose the correct answer from the options given below

1.CADBE
2ABDEC
JBACDE
4CBEDA

Options :

22742757821. 1
22742757822. 2
22742757823. 3

22742757824. 4

Question Number : 131 Question Id : 22742714840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



goUGIg®] & TWIHHYR a1 & $iUd 814 IR BH drad IR &1 5HH Sd15¢
A HH

B. RRde

c. fe=@l (feaa)

D. ®T9 (TfH)

E. &Y dgl

2 feu 7T fAeedl § § T8t SR &1 994 i

1.C.ADBDBE
2 A BDEC
3BACGCDE
4 C.,B,E,D A

Options :

22742757821. 1
22742757822. 2
22742757823. 3

22742757824. 4

Question Number : 132 Question Id : 22742714841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the mentioned body Organs in sequence of blood flow.
A Tricuspid Value

B. Pulmonary Aorta

C. Pulmonary Venacava

D. Right Auricle

E. Bicuspid Valve

Chose the correct answer from the options given below

1.D,C B AE
2D EB,CA
3. 0. A B CE
4 DA CBE

Options :

22742757825. 1
22742757826. 2
22742757827. 3
22742757828. 4

Question Number : 132 Question Id : 22742714841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[ -

f&U 71T TRR & 37 &1 39 U9 & SFIHH H Taiferd piferg

A Begius Fufes

B. PURH! HETLH]

C. Ul FHIEIE]

D. T/l 3ifere

E. 9@ dius ®ulicdl

-t fau U fadedl & I 981 SR &1 99 DIl |

Options :

22742757825. 1
22742757826. 2
22742757827. 3
22742757828. 4

Question Number : 133 Question Id : 22742714842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the Hatha pradeepika what is the correct sequence of edible food
A Honey

B. Five kinds of vegetables

C. Lentil (Moong)

D. Khand

E. Soonth

Chose the correct answer from the options given below

1.A,C D EB
2D AEB,G
3.B,C,D,EA
4 EEABCD

Options :

22742757829. 1
22742757830. 2
22742757831. 3
22742757832. 4

Question Number : 133 Question Id : 22742714842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ZoUGII® ® HTUR TR Yo &1 Jo! HH adsy

A HY

B. U UK & IS

C. T
D Gig

-

i feu Tt faded! & ¥ U8t SR &1 99 dBifod |

Options :

22742757829. 1
22742757830. 2
22742757831. 3

22742757832. 4

Question Number : 134 Question Id : 22742714843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to book Teaching Methods for Yoga Practices’ the correct sequence for a lesson plan is
A Setting the Atmosphere

B. Introduction to the Practice

C. Demonstrating Practices

D. Students Individual Practice Time

E. Group Practice

Chose the correct answer from the options given below

1.AB,C,D,E
2.B,A CDE
JABCED
4 B,ACED

Options :

22742757833. 1
22742757834. 2
22742757835. 3

22742757836. 4

Question Number : 134 Question Id : 22742714843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I I HYSH BR AIf® Nideds & SUR U 9T & oY 981 3 5HH ©

A GIAE GOR B!

B. 3190 &1 U= &1

C. 3G B Az &

D. faenfefal o1 safeara g 939

E OHE® H9E

J1 feu 70 faeedl § © 98t 3R &1 994 SifeU|

1.A,B,C,DE
2 B,ACDE
JABCED
4 BALC,E D

Options :

22742757833. 1
22742757834. 2
22742757835. 3

22742757836. 4

Question Number : 135 Question Id : 22742714844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The correct sequence of the procedure of the kukkutasan

A. Perform padmasan

B. Sitting on the Dandasan

C. Place both the hands between the knees and thighs and keep the plams firmly on the ground
D. Pressing the plams, the body should be put on the ground

E. Pressing the plams, the body should be lifted upward (towards the sky)

Choose the correct answer from the options given below

1.B,C,E,D A
2ACBED
3B,ACED
4.D,B,A CE

Options :

22742757837. 1
22742757838. 2
22742757839. 3

22742757840. 4

Question Number : 135 Question Id : 22742714844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Papcryd B fanfafy &1 9l A Jdist

A T3ITE TRIT

B. QUSTE H §3 WY

C. &M g1yl Bl geAt AR Stanefl & did Ao suferd! ®f Yf 1) gRR o3
D. BTl R 9 &d gU IRR & o+ R a1

E. 3uftrl U 96 S §U IRR B SR (ATHIR) B AR IS

T f&u 7Te fgoedl # 9 981 SR &1 999 Sifeg|

1.B,C,E,D A
2A CBED
3BACED
4 D, B,ACE

Options :

22742757837. 1
22742757838. 2
22742757839. 3
22742757840. 4

Question Number : 136 Question Id : 22742714845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statement : one is labelled as Assertion A and the other is [abelled as Reason R

Assertion A: Rishi vashishina referred to king Dasaratha to be equipped with the sublime traits of patience as well as fhe observer of uttam vrata
Reason R - King Dasarath Sent his son Lord Shr Rama and Lakshmana accompanying Sage Vishwamistra for the attainment of yajna Siddhi

In the light of the above statement, choose the correct answer from the options given below

1. Both Aand R are true and R s the comect explanation of A

2. Both Aand R are true and R is NOT the corract explanation of A
3 Als true but R is false

4 Als false but R is true

Options:



22742757841.1
22742757842. 2
22742757843. 3

22742757844. 4

Question Number : 136 Question Id : 22742714845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A &l P U MU U e (Assertion A) & 0 1 fifd g d GUR1 34 SRUI (Reason R) & €U H;

Y A FTN GRS+ e GIRY Bl U9 T I o B TR B FY-T1Y Feaui 4 faqfid gamn
BRI R T GIRY A T 41 39 4 cieq ol B fauie o oy o ot TS o fere S
JRIG Y & TP 5, < [GU T fadedt § T Tl o &1 98 il

1 AYRRTH 51 8 iR R AT Tgl e §

2. AR R G 981 oifdT R A &1 98! e g1 ©
3 ATR R U R UE TR &

4 AR T AR TR

Options :

22742757841. 1

22742757842, 2

22742757843, 3

22742757844. 4

Question Number : 137 Question Id : 22742714846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statement - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A Vishnu's highest position (Parampada) is attained through the dissolution of manas

Reason R : One ought to meditate on Maha Vishnu laced with luminiscence akin to the one existing in the Moon.
In the light of the above statement, choose the correct answer from the options given below

1. Both Aand R are true and R is the correct explanation of A

2. Both Aand R are true and R is NOT the correct explanation of A
3 Ais true but R is false

4 Aisfalse but R is true

Options :

22742757845, 1
22742757846. 2
22742757847.3
22742757848. 4

Question Number : 137 Question Id : 22742714846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 &l B U U E: U e (Assertion A) & 0 1 i@ 8 d GUR1 34 SRU (Reason R) & € H:
A A T & 30 BF W e & woe @ o a2

DR R: d5H] & G2 Dli-acl Helidy] &1 forariad 2o &M B aiel

TR B & 31l H, Al U T faepedt H 4 Wl IR &1 90 Bifei

1. AR RGHI W8I g IR, AP gl e &

2. AR R EH 98t § i R, A ST TE) e Tl &

3 AT R AR TG TR
4 AT TR R AR T 6

Options:
22742757845. 1

22742757846. 2

22742757847. 3



22742757848. 4

Question Number : 138 Question Id : 22742714847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statement - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A According to yogsutra, in the higher state of yoga there should be no attachment on the invocation of Lokpal Deities
Reason R - Accepting the invocation of Detties creats the chances of sinister again

In the light of the above statement, choose the correct answer from the options given below

1. Both Aand R are true and R is the correct explanation of A

2 Both Aand R are frue and R is NOT the correct explanation of A
3. Aistrue but R is false

4 Ais false but R is true

Options :

22742757849. 1
22742757850. 2
22742757851. 3

22742757852. 4

Question Number : 138 Question Id : 22742714847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i 3 By R TU R U HUBY (Assertion A) & F 7 fafed 2 @ GORI 39 SRUI (Reason R) & T H.
HHBY A T & SFOR OF @1 390 MGl H TiouTd aaalsl ® AR R A9 Te 61 9ieT

B R: Sad1H B A EHR B R G: AP B g i g 8

TRI BY B HTeiiep #, T FGU T ool # 8 781 It &1 95 it

1 AFRR G T2 2 IR R AT Te| & &

2 AR R G T8l 8 At R AT T oaredl el &
AT AFTIRTG TR

4 AT TR S ABIR TR 6

Options :

22742757849. 1
22742757850. 2
22742757851.3
22742757852. 4

Question Number : 139 Question Id : 22742714848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statement - one s labelled as Assertion A and the other s labelled as Reason R

Assertion A In case of Kapha aggravation, Shatkarma should be practiced. One should keep secret these cleansing practices which clean the
body

Reason R : Shatkarma Is not esential in case of balanced Vatta, Pitta and Kapha.
In the light of the above statement, choose the correct answer from the options given below

1. Both Aand R are true and R is the corract explanation of A

2. Both Aand R are true and R is NOT the correct explanation of A
3 Als true but R s false

4 Als false but R is frue

Options:

22742757853. 1

22742757854. 2



22742757855. 3
22742757856. 4

Question Number : 139 Question Id : 22742714848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757853. 1

22742757854 2

22742757855, 3

22742757856. 4

Question Number : 140 Question Id : 22742714849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statement

Statement | - Dysmenorthoea and menorhagia are the medical terms for problems of painful, imegular or excessively heavy menstruation
Statement Il - Menstrual difficutty spawns as much wretchedness as the common cold and medical insight into this problem is equally limited.
In the light of the above statement, choose the correct answer from the options given below

1. Both Statement | and Statement I| are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement Il is false
4 Statement |is false but Statement Il is true

Options :

22742757857. 1
22742757858. 2
22742757859. 3
22742757860. 4

Question Number : 140 Question Id : 22742714849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757857. 1
22742757858. 2

22742757859. 3



22742757860. 4

Sub-Section Number : 2
Sub-Section Id : 227427581
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742714850 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage carefully and answer the questions

Pracficing asanas can promote smooth flow of energy in nadis. Further chakras also can be activated. It enable the attainment of control over
the body, mind and enerqy. Practicing yoga asana is the main tool of achieving high state of awareness

Pawan muktasan is an important practice in the galaxies of practicas which not only hava posiiive effact on body and mind, but it also contributes
signigicantly in treafing physical and mental diseases and our health is protected.

These days most of the diseases are psychosomatic. Practicing asanas, coordinatad braathing with awareness and thus mind can be
vigilant and sapontneous. Appropriate practice of asanas relax our mind and secretion of hormonas the which bring positive harmonizing effect
in internal organs.

Pawanmuktasn is divided in three groups (1) anti-reumatic group (2) the digestive / abdominal group (3) shaktibandh. These three are
complementary o each other and the practice of which intensifies the independat impact of energy

Sub questions

Question Number : 141 Question Id : 22742714851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The practice of Asanas is capable of making smooth flow of energy in nadis and activating which of the following

1. Kundalini

2. Chakara

3. Pran-urja

4 Self-realization
Options :
22742757861. 1
22742757862. 2
22742757863. 3

22742757864. 4

Question Number : 142 Question Id : 22742714852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is useful for prevention of health and treatment of physical and mental diseases?

1. Practising Asana

2. Prictising Pawan Muktasan
3. Practising Pranayama

4. Self awareness

Options :

22742757865. 1
22742757866. 2
22742757867. 3

22742757868. 4

Question Number : 143 Question Id : 22742714853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following can be brought out awareness and ease by practising asana?

1. Mind

2. Body

3. Breath

4 Soul

Options :
22742757869. 1
22742757870. 2
22742757871. 3

22742757872. 4

Question Number : 144 Question Id : 22742714854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the second group of pawanmuktasan called?

1. Shakti bandh

2. Digestive/Abdominal practice
3. Anti Rheumetic

4 Vayumukt Practice

Options :

22742757873. 1

22742757874. 2
22742757875. 3

22742757876. 4

Question Number : 145 Question Id : 22742714855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the practice intensifies the free flow of energy?

1. First Group of Pawan muktasan
2. Second group of Pawan muktasan
3. Third group of Pawan muktasan
4. All the groups of pawan muktasan

Options :

22742757877. 1
22742757878. 2
22742757879. 3
22742757880. 4

Question Id : 22742714850 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742714851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
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Options :

22742757861. 1
22742757862. 2
22742757863. 3
22742757864. 4

Question Number : 142 Question Id : 22742714852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757865. 1
22742757866. 2
22742757867. 3

22742757868. 4

Question Number : 143 Question Id : 22742714853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757869. 1
22742757870. 2
22742757871.3

22742757872. 4

Question Number : 144 Question Id : 22742714854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757873. 1
22742757874. 2
22742757875. 3

22742757876. 4

Question Number : 145 Question Id : 22742714855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757877. 1
22742757878. 2
22742757879. 3

22742757880. 4

Sub-Section Number : 3
Sub-Section Id : 227427582
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742714856 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following passage carefully and answer the questions

Today everyons is aware about ong’s health. The society believes that yoga is the only method to achieve holistic health. Consequently
everyone wants yoga to be a part of ong's lifestyle. But diet plays a very Important role in the practice of yoga and every practicener should keep
itin his mind. Dief s the primary need of life. One body receives the enerqy from the rasa obtained aiter digestion of edible foods taken as a diet
o perform our daily activities. If the diet s not balanced the disorders emerge in the body such as lack of nutrients in the food results in
malnutriion. Some way If the food does not have nutrents according to age and need of the body, it results in undernutrtion. In view of the
importance of nutrition, the government is also emphasizing fo include coarse grains in the diet. Consequently, the year 2023 has been termed
as the year of milet by honorable prime minister

Sub questions



Question Number : 146 Question Id : 22742714857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the only method to achieve Holistic health?

1. Yog
2. Die
O Eala. iced diet
4 Millet

Options :

22742757881. 1
22742757882. 2
22742757883.3

22742757884. 4

Question Number : 147 Question Id : 22742714858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Every yoga practisoner should give importance particularly

. Pace of breathing
- Yama-Niyama
Diet

. God

L O

F =N

Options :

22742757885. 1
22742757886. 2
22742757887. 3

22742757888. 4

Question Number : 148 Question Id : 22742714859 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The year 2023 has been termed as

1. The year of disaster
2. The year of yoga

3. The year of Millet

4 The year of health
Options :
22742757889. 1
22742757890. 2
22742757891. 3

22742757892. 4

Question Number : 149 Question Id : 22742714860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It the diet does not have nutrients according to the age and need of the person, it results in

1. Malnutrition

2. Wellnutrition

3. Hyper nutrition
4 Under nutrition
Options:
22742757893. 1
22742757894, 2
22742757895. 3

22742757896. 4

Question Number : 150 Question Id : 22742714861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The government is emphasizing to include in the diet

. Coarse grain

- Milk products

_ Salad

~ Nutricious pulses

[ e R

e

Options :

22742757897. 1
22742757898. 2
22742757899. 3

22742757900. 4

Question Id : 22742714856 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757881. 1
22742757882. 2
22742757883. 3

22742757884. 4

Question Number : 147 Question Id : 22742714858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757885. 1
22742757886. 2
22742757887. 3
22742757888. 4

Question Number : 148 Question Id : 22742714859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757889. 1
22742757890. 2
22742757891. 3

22742757892. 4

Question Number : 149 Question Id : 22742714860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757893. 1
22742757894. 2
22742757895. 3
22742757896. 4

Question Number : 150 Question Id : 22742714861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757897. 1
22742757898. 2
22742757899. 3

22742757900. 4



